Zr@m WI & loves math, and that’s a Fact, Orial. Analysis H - Deggeller / Hahn

Pemod‘ !?/ /’g . Ch1 Test - Alg through Problem Solving
J Wow . CALCULATOR OK
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1. The statement, “Any given term (k] is used to create the two terms below it, (Z ) and (: i]'”
+

is a proof of:
a) The hockey stick pattern in Pascal’s Triangle
@Each row is double the previous row in Pascal’s Triangle
¢) Finding triangular numbers in Pascal’s Triangle
d) The middle term of the odd number triangle

e) The sum of each row in the odd number triangle adds up to n’ 6 2,
a,%, 4

2. A certain rectangular prism has edge lengths a, b, and c. Which of the following statements are true?

I. A cube whose edge length is the arithmetic mean of a, b, and ¢ will have the same surface area as
the prism.

II. A cube whose edge length is the geometrlc mean of a, b, and ¢ will have the same volume as the
prism.

I1I. A cube whose edge length is the arithmetic mean of a, b, and c will have the same total edge
length as the prism.

a) lonly b) Il only c) 1l only d) Iand Il II and III

3. F, is the nth Fibonacci number.\W/hir}l of the following is NOT equwalentto’Fs? CEL 7 % O
@’ +2F_+F _+F, d) 8F_.+5F._, ,1,2,3,53 13,2\ 344K
b) n— I+F;1-—3+F;1—4 e) F;I—I+F;l—4+2Fn—5+F;1-—()

) 3F,+2F,,

Free Response: You may use a calculator, but you MUST show work! Correct answers with no
work will receive no credit.

Evaluate each expression in terms of n.
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Evaluate the expression in terms of n.
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Write each as a single binomial coefficient.
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Evaluate:"Youmay leave your answer in choose notation. 2%
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9. The coefficient of x°y
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12. F, is the nth Fibonacci number. Find a compa'ct form for: 2( Fl - %
k=1 k+2 k
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13. F, is the nth Fibonacci number. Find a compabt expression for: zek
k=6
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14. Given the geometric sequence 3,6, 12... ,whiéh term has the value of 1,610,612,736?
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15. Find the 50th term of an arithmetic sequence 1|/vhere the third term is 12 and the eighth term is 2.
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16. Write8 + 10 + 16 + 20 + 24 + ... + 9,230 in an exprw, where the series
contai‘?s all the multlples of 8 or 10 (or both). preesss i

1y
Bl Z\D\L/ 2 SRS L I TAL E_,\*” 40 Z\a

b=\ Y=\ |



+1)(2n+1
17. Prove by induction: Zk2 n(n )6(" )
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18. Evaluate: 2 [2 (x+3J’)}
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